
Workbook 5 Sample Problems 

 

Opener      Responder 

   1♦               1♠ 

   2♥                ?               What has opener told you? 

 _________________________________________  

     

 

 _________________________________________  

 

31) ♠QJ75 ♥943 ♦K54 ♣A32 __________________________  
 

32) ♠AQ863  ♥A742   ♦7   ♣A73 __________________________  
 

33) ♠AJ65   ♥103   ♦AQ74   ♣J32 __________________________  
 

Opener      Responder 

   1♦               1♠ 

   2♥                  ?               What has opener told you? 

  5+ diamonds and 4+ hearts with 17+ points 

  (a ‘Reverse’).  I must bid and Opener  

  promises one more bid also. 

 

31) ♠QJ75 ♥943 ♦K54 ♣A32   
2NT.     10 points and a balanced hand.  Though we have a 
diamond fit I would prefer to play NT if possible. 



 

32) ♠AQ863  ♥A742   ♦7   ♣A73   

3♥.     14 points and a heart fit.  I am thinking of bidding a Slam so 

I will simply raise hearts and see what opener bids.  If partner 
simply bids 4♥ I will make an attempt to invite Slam by cue-

bidding spades.  (You will learn cue-bidding in a later workbook). 

 

33) ♠AJ65   ♥103   ♦AQ74   ♣J32   

3♦.     12 points and a nice diamond fit.  I will bid diamonds and 

see what opener bids next.  If Opener bids 3NT I will make one 
attempt to bid Slam by cue-bidding spades. 

 


